
60 000 + 600 =               −      =             742 041 − 7029 =           

942 032 − 2597 =           60 × 50 =           755 ÷ 5 =           

4.5 − 4.04 =           90 000 − 2200 =           9.2 + 5.81 =           

606 ÷ 3 =               −      =             1000 × 77.07 =           

80 × 60 =           9.3 − 2.75 =               −      =             

Year 5 Arithmetic Challenge 2
60 000 + 600 =               −      =             742 041 − 7029 =           

942 032 − 2597 =           60 × 50 =           755 ÷ 5 =           

4.5 − 4.04 =           90 000 − 2200 =           9.2 + 5.81 =           

606 ÷ 3 =               −      =             1000 × 77.07 =           

80 × 60 =           9.3 − 2.75 =               +      =             
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Year 5 Arithmetic Challenge 2 
Answers

60 000 + 600 = 60 600     −      = 6/9 742 041 − 7029 = 735 012

942 032 − 2597 = 939 435 60 × 50 = 3000 755 ÷ 5 = 151

4.5 − 4.04 = 0.46 90 000 − 2200 = 87 800 9.2 + 5.81 = 15.01

606 ÷ 3 = 202     +      =      or 1  1000 × 77.07 = 77 070

80 × 60 = 4800 9.3 − 2.75 = 6.55
     +      =        or 1        
 
or 1  
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